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Questions from Homework

Dcy cscO=0  Not Tossible
4 No Solutiom
o

1
A B
D e Csc6=.$. No Solhon

® by sn8(@ss-)=0
Sn0:0 | cw9-1-0

6=0,80" 30 | CsH-= |

19-"0:%




Day 40 - Trig Equations 2 after.notebook April 17, 2013

Solving Trigonometric Equations
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sin* & —?sin@ =0, —-360°<#<360°
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Ycos @—TcosB+3=0 0<0<360 2X1=6
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Solving Trigonometric Equations Using a Graph
y=sin 0

sin@=1 R sing=0
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Exercise 7.7

Finish #6-8
“Reviey 3t Ot 159)

Ex. 1.7
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Graphs of Other Trig Functions

y =sin 0
““ """ """ """ What would the graph of
B csc 0 look like?
___________ 2_ e
REMEMBER:
cscl = _1
s &

where sin x = 0,

[ e I T csc x 1s undefined
_________ PR S NS RN A S S S -
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y=cos 0
4—v— ----- ----- ----- What would the graph of
P oo s see 0 look like?
__J.____J___}__-_J __________ L T T Py . R

REMEMBER:

sect =

cosé

where cos x =0,
sec x 1s undefined

y = COS X Yy =s8eC X

-k -4 -
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y =tan 0
What would the graph of
cot 0 look like?
REMEMBER:
— — L — tan x =
a2 —Smid - —Smid -z -4 w4 Wz 4 b1 54 Iz CDtI
where tan x =0,
cot x 1s undefined
y=cot0
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